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Program trionymo;
Var
a, b, ¢, D, x1, x2, x12 : real;
Begin
Writeln('Eisagogi synteleston, a<>0, b,
Write('a : ');
Readln(a);
While a=0 do
Begin

Write('Eisagete a<>0 : '");
Readln(a);
End;
Write('b : ');
Readln(b) ;
Write('c : ');
Readln(c);
{iéatn~a:;ii>}

D:= b*b-4*a*c;
Writeln('Diakrinousa D

if D > 0 then
begin
xl:= (-b+SQRT (D)) /

x2:= (-b-SQRT (D)) ;
writeln('2 rizes
writeln('xl: ' ‘ ', x2:10:2
end
else if D = 0 theén
begin
x12:=

writeln (
writeln¢
end
else
writeln (

teros; {Epdtnua I'. 1.}

a, m
Begin
For i:=1 to 10 do {Epdtnua I'. 1.3}
Begin
Write('Arithmos ',i,' : ');
Readln(a);
While a<=0 do
Begin
Write('Arithmos ',i,"' : ");
Readln(a);
End;
If i=1 Then
min:=a

integer;
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Else
If a<min Then min:=a;
End;
writeln('Mikroteros: ', min);
End.
Program G2;
Var

mera:integer;
begin

Write('Dose arithmo meras, apo 1 m ")

Readln (mera) ;

if mera = 1 then
writeln('Kyriaki')

else if mera = 2 then
writeln('Deutera)

else if mera = 3 then

writeln('Triti'
else if mera = 4 t
writeln ('

else

else

else

eis

longint;
: real;

ologismos (var forosl:real; paidial:integer; eisl:longint);
{Epdtnuo A.3.}
Begin
if paidial=0 then

if (eisl>=0) and (eisl<=10000) then
forosl:= eisl*5/100
else if (eisl <= 20000) then
forosl:= 10000*5/100+ (eisl1-10000)*10/100
else

forosl:= 10000*5/100+10000*10/100+ (eis1-20000)*20/100
else if (paidial=1l) or (paidial=2) then

if (eisl>=0) and (eisl<=20000) then
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End;

Begin
End;

begin

End.

[Tapatnpnoeic:

forosl:= eisl*5/100
else

forosl:= 20000*5/100+(eis1-2000 10/100

else if paidial>=3 then
forosl:= eisl1l*5/100;

Procedure Emfanisi(var forosl:real); {EpdTn
writeln('Foros = ', forosl:10:2);

Readln(eis) ;
Write('Dose arithmo paidion

Readln(paidia);
Ypologismos (foros, paii 7

Emfanisi (foros);
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